B2

The weather is today.
Answer:

Itis outside.
Answer:

The forecast predicts temperatures.
Answer:

We are experiencing winds.
Answer:

There is a storm approaching.
Answer:

The sky is and clear.
Answer:

The air feels
Answer:

We can expect rainfall.
Answer:

The climate here is

Answer:

The weather conditions are

Answer:




Answers

The weather is today.
Answer: sunny

Itis outside.

Answer: hot

The forecast predicts temperatures.
Answer: high

We are experiencing winds.

Answer: strong

There is a storm approaching.
Answer: severe

The sky is and clear.
Answer: blue

The air feels
Answer: refreshing

We can expect rainfall.
Answer: heavy

The climate here is

Answer: mild

The weather conditions are

Answer: variable



